Orden de Operaciones (F)

Realice las operaciones en el orden correcto.

L 61,2 % (21,624 33,65+ 18,73) — (14,7 — 2,43)

—_—

2. 96,5 % 52,16 — 64,76 420,55+ 37,01 — 13,6

W

.3,42+70,78 + 68,4+ 19,83 — 64,4+ 17,37

N

. 39,88+4-93,45+22,44+95,07 427,98 + 24,57

9,

. 20,75 x (68,724 19,01 +17,55) — (35,58 — 26,4)
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Orden de Operaciones (F) Answers

Realice las operaciones en el orden correcto.

. 61,2 % (21,62 433,65+ 18,73) — (14,7 —2,43)
—4.516,53

. 96,5 x 52,16 — 64,76 +20,55+37,01 — 13,6
—5.012,64

| 3,424g70,78+68,4+19,83—64,4+17,37
~ 115,4

- 39,88 493,45 +22,44 495,07 +27,98 4+ 24,57
— 303,39

. 20,75 x (68,724 19,01 + 17,55) — (35,58 — 26,4)
—2.175,38
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